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Instructions to Candidates;- S
Attempt Any Two Questions.
All Questions Carry Equal Marks

QUESTION ONE :
(@) A consumer’s utility function is of the form:
U =40q,q;
The consumer’s money"inc'om?r? Y and the respective prices of q; and g, are p; and
pzA Derive the U'%‘?g““’%’m"d .and compensated demand functions for the . two
“ubihodities ¢ < 7 7 (12 marks)
(i)  Suppose the cosumer’s‘money iicome is Ksh 40000 and that the price of q; is
Ksh 30 while that of G2 is Ksh 60. Find the consumer’s optimal consumption
bundle. (6 marks)
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show the relevance of this

(b) Discuss the characteristics of Microeconomic models
7L T(7 marks)

model to the tealsituation. .

QUESTION TWO
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%ﬁé&g igéﬁ"ﬁcal &i’tputs at'two different plants. If the marginal cost at the first
plant exceeds the marginal cost at the second plant, how can the firm reduce costs and
maintain the same level of output? (15 marks)
b) Suppose that a cost minimizing firm uses two inputs that are perfect substitutes. If the
two inputs are priceditfi® sakis, wiat dﬁféﬁﬁﬂi’fﬁm’ﬁf’fﬁbﬁiﬁﬂgands look like for the
inputs? . ame Wit oo g ey o (10 marks).
QUESTION THREE »
a) Show mathematically that a monopolist always sets its price above marginal cost
(10 Marks)
9; What kinds of economic and technological conditions are conducive to the : .

formation of monopolies? * (15 Marks)

a) &Explain the concept of consunter surplus and show how it is used to measure
consumer’s welfare changes (10 Marks)

 production. function.of a firmris representéd by aéombmatlon
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K to produce a given level of output Q. If the has a given cost ﬁuﬂaﬁ'ﬁf}’é{d)ﬂﬁ}v ge
rate is w while the rental value of capital is r, Derive the ﬁrm’soutput‘!&‘]aﬁxggﬁﬁ)g% o
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QUESTION FIVE

a) A producer faces the following demand function:
= -2 & . 0. G,
p=300-%0 €
If his TC function is N
- 3_ 2 LT
TC= Y0 - 10" +20+200 N
Determine -
i. VCand¥C g
il.  The profit maximizing output
iii.  The profit of the producer - (5 marks each)

b) Given the following Gobb-Douglas type of production function. Determine the
return to scale and explain your answer, ‘

Q=L%K}€‘ E (10 Marks)
QUESTION SIX
a) Do oligopolies produce an efficient level of output? Explain (10 Marks)
b) Are dominant strategy equilibria always Nash equilibria? Are Nash equilibria always
dominant strategy equilibria? Explain (15 Marks)
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